——
N = 0] &F AF S & AN A
20168 = 20l A LEHS H ME=X] I
SN XD
HE: HASSE MEOUY B3
EHe: AQIME=SI XS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ME =T 273,341,044 255,157,619 18, 183,425
= 172,586,995
Xl 2,606,000
Jl 102,498
= 24,434,531
Al 73,611,020
NASES MEOY BH 78,172,377 66,720,799 11,451,578
= 62,330,594
Xl 2,606,000
= 5,713,066
Al 7,522,717
DIMEt=T] X 3,998,630 4,212,186 A 213,556
= 498,834
o= 479,201
Al 3,020,595
A3 2 X2 29| 1,893,611 2,005,352 A1, 741
307 QI2t0| ™ 1,893,611 2,005,352 A 111,741
05 QIZtREZ 1,110,161 1,153,336 AN43,175
OAMSSX2 2AEH| 665,675
OAZEXNANESAIHRIMA 444 486
10 A SXNANEEHESIHEX 783,450 852,016 N\ 68,566
OAMNSSX2 2AH| 503,731
OMIZ2EXAESANNGHRMA 279,719
ANSIEXS XNEEX T2 29| 35,000 35,000 0
& 7,000
Al 28,000
307 gizto| A 35,000 35,000 0
& 7,000
Al 28,000
11T A EXAIEEX 35,000 35,000 0
OMI=ESXS XNEsXNEZ ] S2HH| 35,000
= 7,000
Al 28,000
X2 dHE=Y 29X 46,810 50,000 AN 3,190
307 QI2t0| ™ 46,810 50,000 A 3,190
11 A EXAIEEX 46,810 50,000 A 3,190
ONEZE Al 2R 9,500
OXF=ZE AL =Xl 2 9,500
OHSIEZEAIS 2R & 9,000
OSHAFESEHALS = A 2 9,405
OttHHEE AT A2 9,405
AMNEEXS JsE2L 131,600 105,650 25,950
o= 101,780
Al 29,820




AN MESID
HE: HASSE MEOUY B3
Sol: AQIMESR XS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 131,600 105,650 25,950
< 101,780
Al 29,820
01 B2t 2 AL E X 131,600 105,650 25,950
OAMsI=X2& JlsE22 131,600
< 101,780
Al 29,820
CS0AE A2 (A &) 27,000 27,000 0
307 glz2+ol & 27,000 27,000 0
05 RIZt2IE = 27,000 27,000 0
OL=QAIE 2IE 22 27,000
C=0AE 2IH(AS &) 693, 135 672,462 20,673
= 485,195
= 207,940
307 21201 A 693,135 672,462 20,673
= 485,195
< 207,940
10 M SXNANEHE2IHEX 693,135 672,462 20,673
OL=QAE 2IHI(AIZH) 693,135
= 485,195
= 207,940
C=0AE JIsEZ(AMES &) 27,278 0 27,278
= 13,639
= 6,819
Al 6,820
401 Al HIZ 201 8] 27,278 0 27,278
= 13,639
< 6,819
Al 6,820
01 A& HI 27,278 0 27,278
C=0AME JIsEY 27,278
= 13,639
< 6,819
Al 6,820
=X 23U (&) 500,471 495,162 5,309
< 143,662
Al 356,809
307 21201 A 500,471 495,162 5,309
< 143,662
Al 356,809
11T MISRASEX 500,471 495,162 5,309
okL=X 2EsHI(&H) 452,593
= 135,778
Al 316,815
OL=QAE SAX SESE 26,280




SN MEEXD
M HASE MEON 2F
EHe: AQIME=SI XS (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
= 7,884
Al 18,396
OAZEXANESAX HRMHH 21,598
AMNIIEXAF ELFWSEH X 13,005 19,200 AN6,195
307 212t01 & 13,005 19,200 N6,195
11T A EXAIEEX 13,005 19,200 A6,195
OAZSXAI E41W=H X 13,005
ASIEXAIE SAIA RIJ1EE MEUR 4,000 4,000 0
201 et 9| 4,000 4,000 0
03 S AF2 H H 4,000 4,000 0
OMBI=SXAE SAIA CHEMHE WS 4,000
ASISXAIE AL S0t2l &sHl K& 5,000 0 5,000
307 2Iz2to| & 5,000 0 5,000
11 A EXAIEEX 5,000 0 5,000
OABIESEXAIE SAIA FEER2 L S =H| 5,000
SO A A E O 1,000 1,000 0
301 et A= 1,000 1,000 0
11 J|IEIE A2 1,000 1,000 0
O A HE WL 20,000& x50H 1,000
IEAZSHSAY 72,000 69,000 3,000
& 12,000
Al 60,000
307 QI2t0| ™ 72,000 69,000 3,000
= 12,000
Al 60,000
11T A EXAIEEX 72,000 69,000 3,000
OIIFASHSAE 72.000
= 12,000
Al 60,000
UAaRHE 2oAHAAEE =S N 30,000 30,000 0
301 et A= 30,000 30,000 0
01 AISIE&E A %52 30,000 30,000 0
OXNMRAHE 202H2AEE=E A 30,000
AMNIER2RF 22 396,720 432,480 N 35,760
301 LBt A= 396,720 432,480 N 35,760
0B AR ER2JAL A= 396,720 432,480 N 35,760
OAIZER223 22| 396,720
ME=ST 2=X 22,000 22,000 0
203 €2 F&d| 22,000 22,000 0




AN MESID
HE: HASSE MEOUY B3
Sl A ME=T X EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH R =ZH| 22,000 22,000 0
o=sX&d ge=a 9,000
odME=sXXNd 43 =& 8,000
OMESIIMEA HRFH 5,000
NAAS Al A3t XA 70,000 40,000 30,000
307 glz2+ol & 70,000 40,000 30,000
11T MISXASEX 70,000 40,000 30,000
OXNHAS &HH &2 XA 70,000
SNAE 22 30,000 0 30,000
201 et 30,000 0 30,000
01 At 22l 30,000 0 30,000
O=2XAY 28 30,000
HASE MHlA X2 74,173,747 62,508,613 11,665, 134
= 61,831,760
Xl 2,606,000
< 5,233,865
Al 4,502,122
| =ME=g T MAHS 0 66,077,220 52,496,962 13,580,258
= 59,469,500
= 4,625,410
Al 1,982,310
301 et A3 66,077,220 52,496,962 13,580,258
= 59,469,500
< 4,625,410
Al 1,982,310
01 MI2ZE 6= 66,077,220 52,496,962 13,580,258
O=2JzdlE=ZA WHSN 66,077,220
= 59,469,500
< 4,625,410
Al 1,982,310
I ZMESET WESH 167,387 3,499,867 A 3,332,480
308 XXM SO0l A 167,387 0 167,387
08 WEII20HStE X 167,387 0 167,387
O =ME==A WESH 167,387
I MBI HAEHSH 271,000 302,264 A 31,264
= 243,900
< 18,970
Al 8,130
301 et a =z 271,000 302,264 A 31,264
= 243,900
< 18,970
Al 8,130
01 AR 2Z A 53 271,000 302,264 A 31,264




SN MBS
HE: HASSE MEOUY B3
el MASSE MHlA X2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o=l zdg=sA HMENS 271,000
= 243,900
< 18,970
Al 8,130
222X X& A 2,397,000 1,808,000 589,000
= 1,917,600
< 191,760
Al 287,640
301 et a = 2,397,000 1,808,000 589,000
= 1,917,600
< 191,760
Al 287,640
01 MEIBEE 263 2,397,000 1,808,000 589,000
O2=SRX XNEAY 2,397,000
= 1,917,600
< 191,760
Al 287,640
NaAXEE Atal AHIA 3,722,855 3,196,520 526,335
X 2,606,000
< 372,285
Al 744,570
201 £B-2dH| 3,004 2,917 87
Xl 2,103
< 301
Al 600
01 At 22l 3,004 2,917 87
OXSTEd MBI MHIA 3,004
Xl 2,103
< 301
Al 600
307 21201 A 3,719,851 3,193,603 526,248
Xl 2,603,897
< 371,984
Al 743,970
05 RIZt2E = 3,719,851 3,193,603 526,248
OXAXEd AtslMblA 3,719,851
X 2,603,897
< 371,984
Al 743,970
SESSXNEEHMANMA 377,520 285,000 92,520
= 200,760
Al 176,760
101 @124l 293,520 285,000 8,520
= 146,760
Al 146,760
03 RIHAZ 2 E =+ 293,520 285,000 8,520
OSE At 2el At XI& 293,520




SN XD
M HASE MEON 2F
e MASES MHA & (2 &HH)
= - 4 14
SA - B .G (3AH) - MBAY - BES gﬁ‘&i HR=2
= 146,760
Al 146,760
201 Bt 27,600 0 27,600
= 17,400
Al 10,200
01 AP 22| H| 27,600 0 27,600
O Abell 22| X & 9,600
= 4,800
Al 4,800
Os Atdl 22l X & 18,000
= 12,600
Al 5,400
301 LBt A= 56,400 0 56,400
= 36,600
Al 19,800
01 Al E & A 452 56,400 0 56,400
O Arefl 22| X & 14,400
= 7,200
Al 7,200
Os Atdl2el X & 42,000
= 29,400
Al 12,600
sHSX A8 & 29 287,450 0 287,450
101 e1214| 267,450 0 267,450
04 J|12ZtHIZ22NEES 267,450 0 267,450
OsHEXN ANEs 249 267,450
201 LBt | 20,000 0 20,000
01 AP 22| H| 20,000 0 20,000
OsUH=EX ANdEs 249 20,000
g m= OI0] Q= H0tY it 475,000 475,000 0
301 et A= 475,000 475,000 0
11 J|EtE A2 475,000 475,000 0
OEAlS & LBERF B Y 475,000
AMISIAEEEHH 29 127,200 120,000 7,200
o= 25,440
Al 101,760
307 212t0| & 127,200 120,000 7,200
o= 25,440
Al 101,760
11 A EXAIEEX 127,200 120,000 7,200
OAMI2XNNENEELNH 24 127,200
= 25,440
Al 101,760
MNASS MEotE X2 50,000 50,000 0




PN HESIIB
HE: HASSE MEOUY B3
??: HASE MHIA X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 50,000 50,000 0
01 MI2ZE+5l= 50,000 50,000 0
ONASE Moty X 50,000
H=A NGASEEEAN 2 45,000 50,000 A5,000
307 glz2tol & 45,000 50,000 A5,000
10 ALSISXAIEEE 22X 45,000 50,000 A5,000
OX=Al NFAESHEAM 2 45,000
APRAUOIIE MIIRS XA 160,000 180,000 220,000
301 et A=z 160,000 180,000 220,000
01 AR 2Z A5 3 160,000 180,000 20,000
OIFUUOIE HMIIe=a X 160,000
Al STole @AY A S AR WS 11,115 16,000 A 4,885
307 21201 A 11,115 16,000 A 4,885
11T ALS S XA E X 11,115 16,000 A 4,885
OMEIEXI2AY &AL R AIESAX W= 11,115
HEes e-dREAMHIA X 5,000 5,000 0
201 24l 5,000 5,000 0
02 =224l 5,000 5,000 0
Oe-d8l2™ MHIA X 5,000
Lo=x & 146,739,224 142,813,665 3,925,559
= 87,876,191
J| 102,498
< 13,827,881
Al 44,932,654
LMoty XA 127,017,818 123,387,046 3,630,772
= 85,465,691
< 9,089,543
Al 32,462,584
=43 114,507,879 112,404,036 2,103,843
= 80,155,515
< 6,870,473
Al 27,481,891
301 et d = 114,507,879 112,404,036 2,103,843
= 80,155,515
< 6,870,473
Al 27,481,891
01 MEIBEE 53 114,507,879 112,404,036 2,103,843
OPJESuE= 114,507,879
= 80,155,515
< 6,870,473
Al 27,481,891
S QIAIS 2 S X3 AHY 10,051,640 8,536,940 1,514,700




2N

=R &l
SRl CEMENY X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 5,025,820
< 2,010,328
Al 3,015,492
101 124 dl 2,243,100 2,243,100 0
= 1,121,550
< 448,620
Al 672,930
0412t Z2XREES 2,243,100 2,243,100 0
OLQALS & S X &AL 2,243,100
= 1,121,550
< 448,620
Al 672,930
201 2et2d] 61,500 61,500 0
= 30,750
< 12,300
Al 18,450
01 At 22l 61,500 61,500 0
O QAS BSKIJ ALY 61,500
= 30,750
< 12,300
Al 18,450
202 O4dl 5,700 5,600 100
= 2,850
< 1,140
Al 1,710
01 = LH o4 1l 5,700 5,600 100
OLQALS &S XA 5,700
= 2,850
< 1,140
Al 1,710
307 21201 A 7,741,340 6,226,740 1,514,600
= 3,870,670
< 1,548,268
Al 2,322,402
04 QIZFHALAIR B = 8,000 8,000 0
O QAE BSKIJ ALY 8,000
= 4,000
< 1,600
Al 2,400
11T MIEXAS EX 7,733,340 6,218,740 1,514,600
OLQALS & S X &AL 7,733,340
= 3,866,670
< 1,546,668
Al 2,320,002
COME S XAAY =32 dgeld & 568,711 395,670 173,041
= 284,356
< 113,742
Al 170,613




SH: M

=R &l
SRl CEMENY X EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
101 @124 H] 41,613 35,970 5,643
= 20,807
& 8,322
Al 12,484
04 JI2ZtHIZ2 2 NEE S 41,613 35,970 5,643
OLQANISSKIAY £=aD|2 Mol T
2 41,613
= 20,807
& 8,322
Al 12,484
307 2Iz2t0| & 527,098 359,700 167,398
=2 263,549
== 105,420
Al 158,129
11T AISIEXAIEEX 527,098 359,700 167,398
OLQAMNIE:SKIAY S| Mol X
2 527,098
=2 263,549
& 105,420
Al 158,129
LOFAARJHEEH 2 166,800 166,800 0
307 2Iz2to| & 166,800 166,800 0
05 QIZtR &2 166,800 166,800 0
OLQFLANIAHLME 2 166,800
LolgdHe oA 590,000 606,500 A 16,500
307 2izto| A 590,000 606,500 A 16,500
05 QIZ2tRE 2 590,000 0 590,000
O dH|DIAALS 590,000
LoRag NN &9 90,000 90,000 0
301 et A= 90,000 90,000 0
01 Al B & X 46 2 90,000 90,000 0
okorza NIASAMY 29 90,000
AMLIHEE 234l 740,000 754,018 N 14,018
o 63,000
Al 677,000
307 212t0| & 740,000 754,018 N 14,018
o 63,000
Al 677,000
10 M SXANEEHESIHEX 740,000 754,018 N 14,018
OAMLHE2E 224l 630,000
& 63,000
Al 567,000
OMISXAIESAIA HSIMA 110,000
stcols 23 29l N 61,938 68,820 AN6,882




2N
X ZH -
L= B

el

A - ER(EN) - AR - B of & o4 SSa HIDZ2
307 glztol & 61,938 68,820 N6,882
10 AMASANANEEEHSEHES 61,938 68,820 6,882
oHst=ols 23 24 X 61,938
d2E SSH g3H N2 25,650 0 25,650
307 glztol & 25,650 0 25,650
M AMSIMSER 25,650 0 25,650
CZzd 3SHM #3H N2 25,650
SHe Mgt 22X 29,700 33,000 23,300
402 It Xt=01 29,700 0 29,700
01 A EAMEEE 29,700 0 29,700
O=AHQACH JFAEOIDT &X 29,700
COolAL & R X1 E 81,500 0 81,500
307 212t0l & 81,500 0 81,500
03 ZHMEE2EHER 49,500 0 49,500
O(AH S =3 M=AIXE 2 27,000
O(ANHE B dFAIXE R 2 22,500
AR S XA E X 32,000 0 32,000
ONGOSt=HRAXHY 3,000
O UANESSH 2,000
Ost=s =3 dFAXS3 4,000
Q(AH)CHEHE =Xt S AL 3.000
O(ME2THIMXN SIS 2,000
OUI =S 3,000
o&d=J1g4 5,000
O(AH)E =0t N0 EEI SN2 3,000
O(ANES=23H& 7,000
colg 2dE AtY 80,000 67,142 12,858
£ 20,000
Al 60,000
307 212tol & 80,000 67,142 12,858
£ 20,000
Al 60,000
AR S XA E X 80,000 67,142 12,858
Okels 243 80,000
S 20,000
Al 60,000
dF 223 Usd 24,000 0 24,000
S 12,000
Al 12,000
307 glztol & 24,000 0 24,000
< 12,000
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2N
X ZH -
L= B

el

ME =0
Lo=sEx &8
L=SEXAE X

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

307 21201 &

H

Al

209,400

18,000
191,400

209,400

ARSI S XA E X

OLo=Xa dAZz2IH 2EX

H0
[0

Al

209,400

209,400

18,000
191,400

209,400

H
e
Ho

SHE MY A 22| At

Of
0
Ao

= M

120,000

36,000
84,000

120,000

307 21201 A

= H

120,000

36,000
84,000

120,000

= i

120,000
120,000

36,000
84,000

120,000

t

15,000
15,000

15,000

H

156,000
15,000

15,000

e
a
S
>
i
S x
e
Ho
JHA

H

15,000

15,000
15,000

15,000

= MW

468,136
327,695

28,088
112,353

470,424

AN2,288

307 21201 &

= W

468,136
327,695

28,088
112,353

470,424

AN2,288

=z W

468,136

468,136
327,695

28,088
112,353

470,424

N2,288

COolMEAIL XIR

Al

w

571,464

,200,025
,371,439

4,900,500

A 329,036

H

Al

— W

571,464

,200,025
,371,439

4,900,500

A 329,036

,571,464
,571,464

4,900,500

A 329,036




SN XD
Hu: Lo=] ZX
@ Z=EXAE X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,200,025
Al 1,371,439
LCOIMEAIE SAL SEE2Y 518,160 383,970 134,190
< 155,448
Al 362,712
307 glz2tol & 518,160 383,970 134,190
< 155,448
Al 362,712
11T M SRAISE EX 518,160 383,970 134,190
OLQMEANLE SN SEY 518,160
< 155,448
Al 362,712
SUANE HEZA HAAY 15,000 0 15,000
301 et a = 15,000 0 15,000
MIIEEE= 15,000 0 15,000
ORUANE H2ZA 29 15,000
L =SNAE JIs2d 180,106 1,038,446 A 858,340
= 30,053
= 129,016
Al 21,037
402 RI2HXt20l ™ 180,106 1,038,446 A 858,340
= 30,053
< 129,016
Al 21,037
01 22t t= AP E X 180,106 1,038,446 858,340
OLQURAANE JIsE2Z 60,106
= 30,053
< 9,016
Al 21,037
O =XA4 JIsEL(ZHIEX) 120,000
< 120,000
SAHSABX 2e22g KA 554,379 642,914 A 88,535
309 =2 539,379 615,914 AT6,535
01 SAt- SHINEES 539,379 615,914 AT6,535
O=XN33EXN 223 XA 539,379
404 SASHUA=2EES 15,000 27,000 A 12,000
01 SA- sEHI=8EZ 15,000 27,000 A 12,000
OSXNIBJIX 2elAl&F 15,000
SEZ2I(FALE S) HE L3 A 140,000 0 140,000
401 A& HIZ 201 I 140,000 0 140,000
01 A& HI 140,000 0 140,000
OSIEZI(FHAZ SIUHE LHSBA 140,000
SEZ ASHOHI A SA 110,000 0 110,000




2N
X ZH -
L= B

el

o0z
o o
T

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

401 AIEHIZ 2 I 110,000 0 110,000

01 A& HI 110,000 0 110,000
O3EZ NSHOI wHSA 110,000

Mot ol =X K& 9,288,761 7,919,445 1,369,316
, 752
Il 102,498
1,156,761
,976,750

W
~
o
&
R

=
o

LolEs JIEAMHlA 858,530 777,196 81,334
599,712

103,348
165,470

= N W

307 21201 A 858,530 777,196 81,334
599,712

103,348
165,470

= Hn

1A SEXAIE E = 858,530 777,196 81,334

OLQ=EsE JI2AMblA 856,730
599,712
102,808
164,210
OLolE=sSAY MHIAZEIR HASE 1,800

540
1,260

= N H

= M

Lo SSAMEA ALY 50,000 0 50,000

35,000
Al 15,000

H

307 21201 & 50,000 0 50,000

35,000
Al 15,000

H

50,000 0 50,000
(SHEQE RS )AL 50,000

35,000
15,000

>
ton
I
b
i =
(i)
HT
[> B

= H

ColEs SEAEIA 1,959,552 1,587,609 371,943
1,371,686
235,146
352,720

=z N W

307 glztol & 1,959,552 1,587,609 371,943
1,371,686
235,146
352,720

=z MW

o
>
=
~
10

1,959,552 1,587,609 371,943
,959,552

, 371,686
235,146

©)
H
)
- Jo
or ou
OB
el
x
o
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oy




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 352,720
EHIIJFAEA Bl A AL 25,196 25,196 0
= 17,638
< 3,023
Al 4,535
307 glz2tol & 25,196 25,196 0
= 17,638
< 3,023
Al 4,535
11T M SXASE EX 25,196 25,196 0
OEIIIJLAE MHIA AL 25,196
= 17,638
< 3,023
Al 4,535
SEHU=SSHMHLY SS43Y 2= 204,996 35,100 169,896
J| 102,498
Al 102,498
307 glz2+0l & 204,996 35,100 169,896
J| 102,498
Al 102,498
10 ALSISXAIEEE2EHEX 89,496 18,600 70,896
O=HLU=SSTHL S2d SE0IALE 89,496
J| 44,748
Al 44,748
11T M SXASE EX 115,500 16,500 99,000
OSHLC S=td S20IAE 115,500
J| 57,750
Al 57,750
SEHLQ =24 XA 43,000 43,000 0
301 et a = 43,000 43,000 0
01 MEIBEZE 405z 43,000 43,000 0
O=AHke =24l XN& 43,000
2= F2A4 A 710,340 675,000 35,340
< 137,835
Al 572,505
307 21201 A 710,340 675,000 35,340
< 137,835
Al 572,505
11T MISAASEX 710,340 675,000 35,340
ORz d=24Y XA 551,340
< 137,835
Al 413,505
oZdzAY Bxoy X 159,000
HSSH MAS MOt AAHE 574,380 549,540 24,840
< 137,970




SN MEEXD
Hu: Lo=] ZX
@2 MoteolsX X (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Al 436,410
301 et A= 22,500 22,500 0
11 JIEtE A= 22,500 22,500 0
OHsS=HE MMt AABHEY XIS ALAN B4 22,500
307 QI2t0| & 551,880 527,040 24,840
& 137,970
Al 413,910
11T A EXAIEEX 551,880 527,040 24,840
OHSE2® I 0l AAIHY 551,880
& 137,970
Al 413,910
IOl EXAlE X 4,510,808 3,894,344 616,464
= 451,081
Al 4,059,727
307 2I2t0| A 4,510,808 3,894,344 616,464
o=t 451,081
Al 4,059,727
10 M SXANEEHE2IGHEX 4,510,808 3,894,344 616,464
OMIMI=QIEXAIE XS 4,510,808
& 451,081
Al 4,059,727
MO QIS XAAE SAAN EEE 124,440 104,096 20,344
== 37,332
Al 87,108
307 2izto| A 124,440 104,096 20,344
== 37,332
Al 87,108
11T AISIEXAIEEX 124,440 104,096 20,344
OMIMIC=XAE SAL SE8€H 124,440
= 37,332
Al 87,108
LOHOIAHAAE 2 170,087 142,216 27,871
= 51,026
Al 119,061
307 QI2t0| ™ 170,087 142,216 27,871
& 51,026
Al 119,061
10 AISIEXAIEEHE2IHIEX 170,087 142,216 27,871
OLQHOIAHNAE 2 170,087
== 51,026
Al 119,061
THOE DA 2 X DAS A A A 57,432 86, 148 N28,716
= 28,716
Al 28,716
307 2Iz2to| A 57,432 86, 148 N28,716
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2N
X ZH -
L= B

el

ME =0
=JtE2& 22
22l

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| [ A 70,000
e =SS5 39,426,335 36,589,978 2,836,357
= 22,380,210
< 4,597,584
Al 12,448,541
HOoHol Moty X& 26,464,393 24,029,821 2,434,572
= 17,477,678
< 3,019,652
Al 5,967,063
A=K LXel XA 525,264 486,576 38,688
= 262,632
< 105,053
Al 157,579
307 gl2tol & 525,264 486,576 38,688
= 262,632
< 105,053
Al 157,579
11T M SXAISE EX 525,264 486,576 38,688
OIS LXtel XA (e12dl) 525,264
= 262,632
< 105,053
Al 157,579
ZOoHQl ety dXxtel X 954,689 892,044 62,645
= 477,344
< 190,937
Al 286,408
101 @124 dl 954,689 892,044 62,645
2 477,344
< 190,937
Al 286,408
4 D12t Z2Z2XREES 954,689 892,044 62,645
OFHe 2Bt dXxtel X& 954,689
2 477,344
< 190,937
Al 286,408
A2 ZO0Hel QHOFAF THA A 162,206 143,560 18,646
= 129,765
< 12,976
Al 19,465
307 21201 A 162,206 143,560 18,646
= 129,765
< 12,976
Al 19,465
11T AL S XAEE = 162,206 143,560 18,646
OAIZZ0HQI QFOFAF IHAAF 162,206
= 129,765
< 12,976




2N
X ZH -
L= B o

el

!

o=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 19,465
ol Xl XNJdE 23 60,000 60,000 0
307 gl2tol & 60,000 60,000 0
05 BIZHRI & 3 60,000 0 60,000
OFMHALRXNJAEEH 29 60,000
HAasZEHel tsd Litel X 200,000 50,000 150,000
307 glz2tol & 200,000 50,000 150,000
05 RIZHRI &3 200,000 50,000 150,000
OMASZEOS SHFE LXel NH 200,000
Zopelgdxiel OH=20te 22 2,000 0 2,000
201 Let2d] 2,000 0 2,000
01 At 22l 2,000 0 2,000
ool gXtel =20ty 29 2,000
ZOoiel ME2XI|2 ue 22,545 21,983 562
= 18,036
< 1,804
Al 2,705
301 LA F 22,545 21,983 562
= 18,036
< 1,804
Al 2,705
01 MI2ZE 06z 22,545 21,983 562
OXoe MHEEEXRI|F W 22,545
= 18,036
< 1,804
Al 2,705
Zopel ozH XA 464,208 730,000 N 265,792
= 371,367
< 37,136
Al 55,705
307 glz2tol & 464,208 730,000 N 265,792
= 371,367
< 37,136
Al 55,705
01 22724l 464,208 730,000 N 265,792
OFoHel o =zH XA 464,208
= 371,367
< 37,136
Al 55,705
ZOHe S5 &EH N 9,204 9,204 0
= 4,602
< 1,841
Al 2,761
307 21201 A 9,204 9,204 0

_20_




AN MESID
Hu: ool 2N
SOl FONQ MEOIE X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 4,602
< 1,841
Al 2,761
01 222724l 9,204 9,204 0
OHMe S5 AEd X& 9,204
= 4,602
< 1,841
Al 2,761
SSEMHQ XX ALY 285,000 300,000 215,000
= 114,000
< 68,400
Al 102,600
307 21201 A 285,000 300,000 A 15,000
= 114,000
< 68,400
Al 102,600
11 AL SXAEE = 285,000 300,000 A 15,000
OZZSZMH NEHMEXJAY 285,000
= 114,000
< 68,400
Al 102,600
SYEEY SSTMY ANSHENMEAAY 2 12,825 15,000 N2, 175
307 gl2tol & 12,825 15,000 A2,175
11T M SXAISE EX 12,825 15,000 N2, 175
OSLEHESESZMHL RSMHE M A 12,825
ZOHQ M2ES 23,863 23,881 A18
< 7,164
Al 16,699
307 glz2+ol & 23,863 23,881 A18
< 7,164
Al 16,699
11T MISXASEX 23,863 23,881 A18
OFMe M2ES 23,863
< 7,164
Al 16,699
Zope SX02 FEXN B2 10,260 12,000 21,740
307 21201 A 10,260 12,000 A1,740
11T AL S XA E = 10,260 12,000 21,740
OFoe =X 32X E= 10,260
HASE As=2H O TAIE HHE 54,300 54,300 0
301 et d = 54,300 54,300 0
11IIEESS 54,300 54,300 0
ONMAS HNS=¥® Y ZAIE HHE 46,800
O A HHE NRASAN 24 7,500




AN MESID
M HOe =2XNE5E
SOl FONQ MEOIE X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
GEEMe s4dHE X& 86,000 86,000 0
= 16,100
< 2,070
Al 67,830
301 gtE L= 86,000 86,000 0
= 16,100
< 2,070
Al 67,830
NIJIEEd=s 86,000 86,000 0
OWgHMe E4&HE K& 23,000
= 16,100
< 2,070
Al 4,830
OFMIIE ELHIE FIHX S 63,000
ZO0HQ ESXEAY 10,688,830 8,614,786 2,074,044
= 7,475,180
< 1,281,460
Al 1,932,190
201 £B-2d| 10,000 10,000 0
01 AL 22l H| 10,000 10,000 0
OZOQ ESXHAEY 10,000
307 glz2tol & 10,678,830 8,604,786 2,074,044
= 7,475,180
= 1,281,460
Al 1,922,190
05 RIZt2E = 10,678,830 8,604,786 2,074,044
OZOQ ESXHAAS 10,639,886
= 7,447,920
< 1,276,786
Al 1,915,180
OZOQ ESEX Itttz 38,944
= 27,260
= 4,674
Al 7,010
ool BESE EINNE ALY 261,453 376,702 A 115,249
S 78,436
Al 183,017
307 glz2tol & 261,453 376,702 A 115,249
< 78,436
Al 183,017
05 RIZHRIEt 3 261,453 376,702 A 115,249
O ESEX FIHXA ALY 261,453
= 78,436
Al 183,017
WSS 2ASs TSN MHIA 30,000 30,000 0
307 21201 A 30,000 30,000 0

- 22 -




PN HESIIB

Hu: ool 2N
SOl FONQ MEOIE X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 30,000 30,000 0
OZSTSHMHAX S HEX & HEH 7,500
OXSA2 ZOHQIAHE M & dlH 7,500
O &t A E EHALE S X 2 7,500
O(A)EFAIZONQA B HE S 7,500
ZOHOtS MEI =AY 1,617,907 1,597,811 20,096
= 1,132,535
< 161,791
Al 323,581
307 21201 A 1,617,907 1,597,811 20,096
= 1,132,535
< 161,791
Al 323,581
05 BIZHRI & 3 1,617,907 1,597,811 20,096
OZOols MHEXZ AL 1,617,907
= 1,132,535
< 161,791
Al 323,581
Aoge X& At 15,396 65,007 A49,611
= 10,777
< 1,540
Al 3,079
307 glz2+ol & 15,396 65,007 A49,611
= 10,777
< 1,540
Al 3,079
05 RIZtE = 15,396 65,007 249,611
odgg K& ALY 15,396
= 10,777
< 1,540
Al 3,079
S 2242 A4 15,360 31,680 216,320
= 10,752
< 1,536
Al 3,072
307 21201 A 15,360 31,680 216,320
= 10,752
< 1,536
Al 3,072
05 RIZt2IEt = 15,360 31,680 A 16,320
OLE MR 2242 4SXE 15,360
= 10,752
< 1,536
Al 3,072
LIS dE=AHQ X2 AY 9,300 12,000 A2,700
= 7,440

_23_




PN HESIIB
g Zoe =X

CHRl: ZOjQl MEotAd X< S ®
— o — o= o — — E\_

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2m

558
1,302

= H

307 21201 & 9,300 12,000 A2,700
7,440

558
1,302

= M W

A S XA E X 9,300 12,000 2,700
OZEHM dE=AQ HEEXH S 2,100

1,680
126
294

A0 MHIAXI R 7,200

5,760
432

1,008

o

= N W

©
b
0
o
2
o
>.

d

o o

-

Rl

= MW

= 10,590, 143 9,789,470 800,673
7,413,100

953,113
2,223,930

= W

301 gEtE &= 10,590,143 9,789,470 800,673

7,413,100
953,113
2,223,930

= N H

01 Al 2&H =62 10,590, 143 9,789,470 800,673
OZMHZ 10,590,143

7,413,100
953,113
2,223,930

= Hn A

ZU=(BEZAE S) 48,640 61,923 N 13,283
34,048
5,837
8,755

=z N H

301 LEE A= 48,640 61,923 N 13,283
34,048
5,837
8,755

= N H

01 MBI 2 X +0l3 48,640 61,923 13,283
OZM=Z(EHAAE E) 48,640
34,048

5,837
8,755

= M W

FOHAANF=AIE 4K TNEsS XS 10,000 0 10,000
3,000
7,000

= M

307 21201 & 10,000 0 10,000

3,000
Al 7,000

H

_24_




2N

!

o=

Hu: mojel =2XEZ
SOl FONQ MEOIE X (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 10,000 0 10,000
OFMUAAN=AE EAX NE2 X 10,000
= 3,000
Al 7,000
Zoiel IEXNJMH 22 150,000 124,450 25,550
< 45,000
Al 105,000
307 21201 A 150,000 124,450 25,550
< 45,000
Al 105,000
11T MISXASEX 150,000 124,450 25,550
oXoe JIEXNJAdEH 24 150,000
< 45,000
Al 105,000
O HEWSHEYH 22 150,000 250,000 100,000
< 60,000
Al 90,000
307 21201 A 150,000 250,000 100,000
< 60,000
Al 90,000
11 ALS S XAEE = 150,000 250,000 A 100,000
OZOMQ HMNSHH 24 150,000
< 60,000
Al 90,000
d=A ZOHA=2XRARAS 29 5,000 5,000 0
201 Let24E] 5,000 5,000 0
01 At 22l 5,000 5,000 0
OXFA HOUA=EXAZE 23 5,000
ZOoHe &l XI& 691,730 534,468 157,262
= 25,487
< 142,194
Al 524,049
ZOHQUEHH =X ALY XI& 136,415 0 136,415
307 21201 A 136,415 0 136,415
11T MISXASER 136,415 0 136,415
OANAZOHO SHERDSS (HSAI2E 00l
a3l ™MFEAKXIE) 12,825
OANAZOHQ 23RS X (H A2 20}
OlASHS| M F=AIXIS]) 5,000
OO0tz ZFRE =2 XA (M=SAREOH
IS MF=AIXIE) 5,000
OM17al AHMZEMC SF=sZEA XA (HSAA
ool sl &= AIX ) 3,000
O HMEY2AMA(MEXNHMBUHAESH
= A E) 13,680

_25_




SN MEEXD
HE: Zoje =SXNE
Sl Zojel M XIS

% S 4 14
SN BB (BH) - MR e Hl D= 2t
=/
O=2stME & HoHhs (H |
HME=AXE) 6,000
OLE el XHe XA H
IRR3MFAIX ) 5,000
OFMIIE 88 H(E=H |
Xlal) 2,000
ONHUHEN StLIE = IHEA ol
223 MFAKXSE) 2,000
OHMWALD 0J} L S5 ME ol
I FSENPED) 3,000
OsoNY T2 2% (A =
A X&) 10,260
O=Q XA ASlE8 T2 el
B3 MFAXE) 4,000
OFMMA=EXNSIMNS (B2 NE =
A X&) 5,000
OMIHESHM IHEL2 EA =
ZONIE S A= AIX ) 3,000
Jofel HEwEtdEH 249( 38
wWEHlEH) 12,825
OBE R eIMS (HFAIZH 4,000
OFMNotH HESA A (NS HEHS 12,825
OAMIIMEIHEE <s Dz (M=HSZ0H
OIS M F=AIX &) 3,000
OXged &) ZTZHME(MNSHLSEMAAU) 5,000
OEHE2 HAS oM (ZSSZHMHAXNAHUET
) 2,000
OFOe AHMOILH(E=SHMHA=EX2HSA R
rSESYNDAEN] 2,000
OFJIIINE & 2EY HLEE (U FHM
HNEHIEF=XER) 2,000
OBI& XA Y AISIMHIAAS (HAEE2F2
SAHTH) 4,000
OEINAZ2 28| 2,000
OXFO0HC MAUSO HAME(E D) 2,000
OOIdEY 2tua 2H (A ol
A MEHEH) 2,000
020164 Lz & ZHE(H =gl
8t3l) 3,000
A ZOHQASH SHES 24,300 27,000 22,700
307 glz2tol & 24,300 27,000 22,700
10 AL SXNAIEEE2EHEX 24,300 27,000 A2,700
OE=AZOHQIEHK SAHAES a 24,300
ZOHQIEX AR A X3 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
10 ALSISXAIEEE 22X 25,000 25,000 0

_26_
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PN HESIIB

g Foje sxsd

Ch s Aol Sl X (e H)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
AZEMWS EXW= 12,468 11,249 1,219
== 3,740
Al 8,728
307 2Iz2t0| A 12,468 11,249 1,219
o= 3,740
Al 8,728
11 A EXAIEEX 12,468 11,249 1,219
OA2EOHS EXD= 12,468
& 3,740
Al 8,728
HAEEMC WEAS 36,410 40,500 A 4,090
= 25,487
& 4,369
Al 6,554
307 giztol & 36,410 40,500 A 4,090
= 25,487
& 4,369
Al 6,554
11T A EXAIEEX 36,410 40,500 A4 090
OHE &S WAL 36,410
= 25,487
= 4,369
Al 6,554
ZHoHel Orstw 29 X 100,000 87,399 12,601
= 30,000
Al 70,000
307 2I2t0| ™ 100,000 87,399 12,601
o= 30,000
Al 70,000
11 A EXAIEEX 100,000 87,399 12,601
OHOMC ofsw 29 XN 100,000
& 30,000
Al 70,000
MF=Al =3 23FHA 17,100 0 17,100
307 2iz2to| & 17,100 0 17,100
11T AISIEXAIE EX 17,100 0 17,100
O3 23N 17,100
ZOHQICHH JsEd 40,000 0 40,000
& 40,000
402 SI2F X0l & 40,000 0 40,000
& 40,000
01 QIZEXIE2AIE 2 X 40,000 0 40,000
ON=ZZNAUEZAN d=XE AEMA 20,000
= 20,000
OctA XS XNEHE JsEX 20,000
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2N
X ZH -
L= B

el

ME =0
ol sXsd
Zoper Al X

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

H

20,000

ZOHQIEHH X2 A

= M

15,000

5,000
10,000

15,000

307 21201 &

H

Al

15,000

5,000
10,000

15,000

AR S XA E X

OX M XA

15,000
15,000

5,000
10,000

15,000

(0)al

fOHQl SXAIE K&

= N H

12,270,212
4,877,045
1,435,738
5,957,429

12,025,

689

244,523

0z
=
Fo
02
=
nx
H0
02
(=

= N

1,798,314
1,258,820
161,848
377,646

1,720,

321

77,993

307 21201 &

= Hn

1,798,314
1,258,820
161,848
377,646

1,720,

321

77,993

e
A

10 A SIAEHE2SH
A

OBAURAAL 23]

= N W

1,798,314

1,798,314
1,258,820
161,848
377,646

1,720,

321

77,993

= M

52,200

15,660
36,540

55,

080

A2,880

307 glztol &

= M

52,200

15,660
36,540

55,

080

A2,880

= M

52,200
52,200

15,660
36,540

55,

080

A 2,880

SUQTAE HEozJd8 X2

= M

14,080

4,224
9,856

,200

880

307 21201 &

H

Al

14,080
4,224
9,856

,200

880

©
N
=
x0)
09
>
nx H
=
o

T2y N2

14,080
14,080

,200

880
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2N
e =SXsN

el

X ZH
S =

ME =0

el SXAE X

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

H

Al

7,208
9,856

0
>
fo
0Q
>
x
0z
e
e
0¥
pal
=

t

Al

6,160

1,848
4,312

5,775

385

307 21201 &

H

Al

6,160

1,848
4,312

5,775

385

H

Al

6,160
6,160

1,848
4,312

5,775

385

H

18,000
18,000

38,000

A 20,

000

H

18,000
18,000

38,000

A20,

000

<
o
rJ
-
e
>
©Q
T
o

©
o
>
o
L
o
o
or
H
0

H

18,000

18,000
18,000

38,000

A 20,

000

FO HAFAE 2EH XS

= HnH

5,168,892
3,618,225

310,133
1,240,534

4,932,596

236,

296

307 glztol &

= HmnH

5,168,892
3,618,225

310,133
1,240,534

4,932,596

236,

296

10 ALl S XAIEEE 22

g
OZOML AHAFAE 2SHl NE

22X

= Hn W

5,168,892

5,168,892
3,618,225

310,133
1,240,534

4,932,596

236,

296

0z
2
o
M
S
T
fol
>
x
0]
02

= M

1,362,559

260,908
1,101,651

1,267,721

94,

838

307 21201 &

= M

1,362,559

260,908
1,101,651

1,267,721

94,

838

10 AFRI S XA EHE 2 S

OXHe FAESAIE

02 M

fon
MO HC
B
v
=

©
0
2
o
4
S
HT
ol
>
nx
0]
02
s
[af
Mo
02
[==

OMBISXIAIESALA M2MHA

H

Al

H

Al

1,362,559
1,156,239
231,248
924,991
148,320
29,660
118,660
58,000

1,267,721

94,838
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2N
X ZH -
L= B

el

ME =0
ol sXsd
el SXAE X

= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ZOHQ OF2 SSAHY 259,800 253,800 6,000
= 51,960
Al 207,840
307 gl2tol & 259,800 253,800 6,000
< 51,960
Al 207,840
11T AIS S RAEE = 259,800 253,800 6,000
OFHLl OrIESsALY 259,800
< 51,960
Al 207,840
ZOHQ SSHEINE 29 291,250 275,000 16,250
= 28,325
Al 262,925
307 glz2+0l & 291,250 275,000 16,250
= 28,325
Al 262,925
10 ALSISEXAIEEE2EHEX 291,250 275,000 16,250
oZle =428 24 283,250
< 28,325
Al 254,925
OMSIEXAEESAX HRMA 8,000
Zofel HIIESAE 2Y 165,000 141,396 23,604
< 31,000
Al 134,000
307 glz2tol & 165,000 141,396 23,604
< 31,000
Al 134,000
10 ALl SXAIEEE2EH EX 165,000 141,396 23,604
OFMe SHIESAE 294 155,000
< 31,000
Al 124,000
OMEISXAESAX HRIMA 10,000
ZOHQ SXAE SAKL EE€+F 181,470 327,960 A 146,490
< 54,441
Al 127,029
307 gl & 181,470 327,960 A 146,490
< 54,441
Al 127,029
11T M SXAISE EX 181,470 327,960 A 146,490
OFME ZSXAIL SAK SHog 181,470
= 54,441
Al 127,029
ZOHC HAE(OHQ) HFAE X 255,132 134,400 120,732
< 25,513
Al 229,619




PN HESIIB

g Foje sxsd

&2 ZoHe SXAE K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 255,132 134,400 120,732
< 25,513
Al 229,619
10 ALl SXAIEEE 2 H EX 255,132 134,400 120,732
OFOH HE(HL) HFAE K& 255,132
< 25,513
Al 229,619
SAIE O SSMEINE 2F 259,200 0 259,200
307 glz2+ol & 259,200 0 259,200
11T MISRASER 259,200 0 259,200
OEAMNE Fij ssd2Itd8 89 259,200
SAE FOHQ NEMHE HEE 23 83,020 0 83,020
201 et 4,000 0 4,000
01 At 2teltl 4,000 0 4,000
OEAE FHe NEHE HEE 22 4,000
307 glz2tol & 64,620 0 64,620
11T M SXAISE EX 64,620 0 64,620
OEAE Zofe NEHE MEEs 22 64,620
402 RIZER201 A 14,400 0 14,400
01 It =2 AL B X 14,400 0 14,400
OEAE FoHe NEEHE HMEE &X 14,400
ZOoHI=R2 29l 1,114,289 998,487 115,802
= 208,242
Al 906,047
307 21201 A 1,114,289 998,487 115,802
< 208,242
Al 906,047
10 M SXNANEHES2IHEX 1,114,289 998,487 115,802
OFel=X2 24| 1,076,877
< 208,242
Al 868,635
OASSXAESAMI HIHA 37,412
Foe HE=s=EY 23 120,000 120,000 0
307 21201 A 120,000 120,000 0
05 RIZt2IEt = 120,000 120,000 0
ozl d===E 24 120,000
Zoe =S H 29 189,552 203,012 A 13,460
< 27,312
Al 162,240
307 21201 A 189,552 203,012 A 13,460
< 27,312
Al 162,240
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2N
X ZH -
L= B
el

ME =0
ol sXsd
el SXAE X

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
10 MM SAANEEHESIHEX 189,552 203,012 AN 13,460
O&Me *3sSHMEH &4 181,552
o= 27,312
Al 154,240
OASBIEXNAEESAXN HARMA 8,000
O MEQISARAAEH 2H 236,727 249,322 N 12,595
= 45,748
Al 190,979
307 2Iz2to| A 236,727 249,322 N 12,595
= 45,748
Al 190,979
10 MM SXAANEEHESIGHEX 236,727 249,322 N 12,595
O MEQSKANEH 29 228,727
=} 45,748
Al 182,979
OMBSXAIESAIAN HSIMA 8,000
AN2ZZOHRI(EX) SN2 29 142,134 104,961 37,173
= 67,867
Al 74,267
307 2I2t0| & 142,134 104,961 37,173
o= 67,867
Al 74,267
11 A EXAIEEX 142,134 104,961 37,173
OAMZUZOHQI(EX) SAHZ 29 135,734
& 67,867
Al 67,867
OMISXNAIESAMIALHRINA 6,400
ZOHQ MNHATEAE SHH| 527,433 639,479 A 112,046
o= 102,709
Al 424 724
307 2I2t0| & 527,433 639,479 A 112,046
= 102,709
Al 424 724
10 AISIEXAIEEHE2IHIEX 527,433 639,479 A 112,046
OEOMQ HATHEAE 29H| 513,546
& 102,709
Al 410,837
OAZEXNANESAX HRHA 13,887
HAQLAANAE AlHO =H K& 5,000 0 5,000
307 QI2t0| ™ 5,000 0 5,000
11T A EXAIEEX 5,000 0 5,000
OFNRRAAIAL MHO sSH KNS 5,000
ol Jse2d 20,000 0 20,000
o 20,000
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S

DA

Hu: ool 2N
Eel: Zfe EXAE K& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 20,000 0 20,000
== 20,000
01 QIZEXIE2AIE 2 X 20,000 0 20,000
OHMOU=EX & JsEY 20,000
=} 20,000
HMSHAY (M2 705,946 696,273 9,673
Ol A (ME=ZX ) 580,316 571,915 8,401
laded AY| (Me=2X ) 580,316 571,915 8,401
101 Q124 H] 580,316 571,915 8,401
01 2 580,316 571,915 8,401
OAZtA224E 580,316
®6= 10,3312 25 x50A| 2+ * 12E 154,965
@o/= 9,332& *65 2 x50 A| 2Hx 12 363,948
[ K= 8,378 x6H x50A| 2+ 12E 30, 161
®90= 7,573& 1P «x50A| 2t %128 4,544
QOTEAHSE 22X 9,332 x2H x4 A| 2+ %6 448
@ AHMEjEIS 2 75,012& x4 58 17,403
OHRMAHH(SL2R2EE)
589,776,480& x1.5% 8,847
Jl2Z 8 (ME=X 1) 125,630 124,358 1,272
Jl2dd (ME=X 1) 125,630 124,358 1,272
201 Bt 64,730 66,818 N2,088
01 AP 22| H| 56,730 51,818 4,912
OgYbt4=24| 30,000
ogds4 3,000
OF=1=1:] 22,680
OSXUHAX ESAXAI EZ2 SAHI| 850
ou=d (3axz) 200
02 Z2=2=24%4| 8,000 15,000 A 7,000
03322 % HA 8,000
202 044 53,400 50,040 3,360
01 2L Y| 53,400 50,040 3,360
OJI2g2=& 0| 53,400
203 SR F & 7,500 7,500 0
01 JI22HYRFAH| 3,300 3,300 0
CEPNEER PSS 3,300
04 EANSIELRE=XH| 4,200 4,200 0
OFRMNSI LR 350,000 x12& 4,200
MEES(ME=X D) 6,458,682 5,970,624 488,058
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SH: ME=XD
HH: GRS (ME2XD
e HEHHKS(NME=X ) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HWEHA XS (MHE=X ) 6,458,682 5,970,624 488,058
HWEHHX =S (2 EBSELESH EFE2) 6,458,682 5,970,624 488,058
701 JIEIS HEEHE2 6,458,682 5,970,624 488,058
01 JIEtS HEE2 6,458,682 5,970,624 488,058
O=EE2SEY3H M= 6,458,682
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